

Harmonic univalent functions related to q -derivative based on basic hypergeometric function

Abstract. We study a family of harmonic univalent functions using an operator involving q -derivative and hypergeometric function. Precisely we obtain a necessary and sufficient condition for functions in this family. Extreme points and convexity of such functions are also introduced.

2000 Mathematics Subject Classification: 30C45; 30C50.

Keywords and Phrases: Harmonic function, q -derivative, Hypergeometric function, Convolution, Extreme point, Convex set.

1 Introduction

Let $\mathcal{S}_{\mathcal{H}}$ denote the class of functions which are harmonic, univalent, complex valued and sense preserving in $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$ normalized by $f(0) = f_z(0) - 1 = 0$. Each $f \in \mathcal{S}_{\mathcal{H}}$ is of the type $f = h + \bar{g}$ where h and g are analytic in \mathbb{U} . We call h and g analytic part and co-analytic part of f respectively. Also f is locally univalent and sense preserving in \mathbb{U} if and only if $|h'(z)| > |g'(z)|$ in \mathbb{U} , see [2]. Thus, for $f = h + \bar{g} \in \mathcal{S}_{\mathcal{H}}$, we may consider:

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad g(z) = \sum_{k=1}^{\infty} b_k z^k, \quad (0 \leq b_1 < 1). \quad (1)$$

Received: XXXX; Accepted: XXXX (Will be inserted by editor)

The q -shifted factorial for $|q| < 1$ defined by:

$$(\alpha, q)_k = \begin{cases} 1 & , \quad k = 0, \\ (1 - \alpha)(1 - \alpha q)(1 - \alpha q^2) \cdots (1 - \alpha q^{k-1}) & , \quad k \in \mathbb{N}, \end{cases} \quad (2)$$

where \mathbb{N} denote the set of positive integers and α is a complex number.

For complex parameters α_i, β_j and q where $i = 1, 2, \dots, m, j = 1, 2, \dots, n, \beta_j \in \mathbb{C} \setminus \{0, -1, -2, \dots\}$ and $|q| < 1$, we consider the basic hypergeometric function ${}_m\Phi_n(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n, q, z)$ by:

$${}_m\Phi_n(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n, q, z) = \sum_{k=0}^{\infty} \frac{(\alpha_1, q)_k \cdots (\alpha_m, q)_k}{(q, q)_k (\beta_1, q)_k \cdots (\beta_n, q)_k} z^k, \quad (3)$$

where $m = n + 1, m, n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, z \in \mathbb{U}$ and the q -shifted factorial $(\alpha, q)_k$ is given in (2).

We note that

$$\begin{aligned} & \lim_{q \rightarrow 1^-} \left({}_m\Phi_n(q^{\alpha_1}, \dots, q^{\alpha_m}; q^{\beta_1}, \dots, q^{\beta_n}, q, (q-1)^{1+n-m} z) \right) \\ & = {}_mF_n(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n, q, z), \end{aligned} \quad (4)$$

where ${}_mF_n(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n, q, z)$ is the well-known hypergeometric function. For more details, one may refer to [3, 5] and [6].

The q -derivative of a function G is defined by:

$$\partial_q(G(z)) = \frac{G(qz) - G(z)}{(q-1)z}, \quad (q \neq 1, \quad z \neq 0). \quad (5)$$

We can easily observe that:

$$\partial_q(z^k) = \frac{1 - q^k}{1 - q} z^{k-1} = [k]_q z^{k-1}, \quad (6)$$

where $[k]_q = \frac{1 - q^k}{1 - q}$ is the q -integer number, see [7] and [8].

We conclude that:

$$\lim_{q \rightarrow 1} \partial_q(G(z)) = G'(z).$$

For more properties of q -derivative, see [4] and [7]. Now, we consider the linear operator:

$$\begin{aligned} & \mathcal{H}_n^m(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n; q)f(z) \\ &= (z {}_m\Phi_n(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n; q, z)) * f(z) \\ &= z + \sum_{k=2}^{\infty} \Gamma(\alpha_i, \beta_j, q, k) a_k z^k, \end{aligned} \quad (7)$$

where “*” stands for well-known convolution (or Hadamard product) and:

$$\Gamma(\alpha_i, \beta_j, q, k) = \frac{(\alpha_1, q)_{k-1} \cdots (\alpha_m, q)_{k-1}}{(q, q)_{k-1} (\beta_1, q)_{k-1} \cdots (\beta_n, q)_{k-1}}. \quad (8)$$

It is convenient to write:

$$\mathcal{H}_n^m(\alpha_1, \dots, \alpha_m; \beta_1, \dots, \beta_n; q)f(z) = \mathcal{H}_n^m(\alpha, \beta, q). \quad (9)$$

H. Aldweby and M. Darus [1] were defined the operator (7) on harmonic function $f = h + \bar{g}$ given by (1) as follows:

$$\mathcal{H}_n^m(\alpha, \beta, q)f(z) = \mathcal{H}_n^m(\alpha, \beta, q)h(z) + \overline{\mathcal{H}_n^m(\alpha, \beta, q)g(z)}. \quad (10)$$

For more properties of operators given in (7) and (10), see [3].

We denote by $\mathcal{S}_{\overline{\mathcal{H}}}$ the class of functions $f = h + \bar{g}$, where:

$$h(z) = z - \sum_{k=2}^{\infty} |a_k| z^k, \quad g(z) = \sum_{k=1}^{\infty} |b_k| z^k, \quad (|b_1| < 1). \quad (11)$$

For $\gamma \geq 0$, $0 \leq \delta, \eta \leq 1$, $0 \leq \sigma < 1$ and $t \in \mathbb{R}$ let $\mathcal{S}_{\overline{\mathcal{H}}}^t(\gamma, \delta, \eta, \sigma)$ denote the class of functions in $\mathcal{S}_{\overline{\mathcal{H}}}$ of the type (1) such that:

$$\begin{aligned} \text{Re} \left\{ (\eta e^{it} - \gamma \delta) - \eta e^{it} \frac{(\mathcal{H}_n^m(\alpha, \beta, q)f(z))''}{z''} + (\gamma + \delta) \frac{(\mathcal{H}_n^m(\alpha, \beta, q)f(z))'}{z'} \right. \\ \left. + (1 - \gamma)(1 - \delta) \frac{\mathcal{H}_n^m(\alpha, \beta, q)f(z)}{z} \right\} \geq \sigma, \end{aligned} \quad (12)$$

where

$$z' = \frac{\partial}{\partial \theta}(z) = iz, \quad z'' = \frac{\partial^2}{\partial \theta^2}(z) = -z, \quad (13)$$

and

$$\begin{aligned} (\mathcal{H}_n^m(\alpha, \beta, q)f(z))' &= \frac{\partial}{\partial \theta}(\mathcal{H}_n^m(\alpha, \beta, q)f(re^{i\theta})) \\ &= iz(\mathcal{H}_n^m(\alpha, \beta, q)h)' - iz\overline{(\mathcal{H}_n^m(\alpha, \beta, q)g)'}, \end{aligned} \quad (14)$$

$$\begin{aligned} (\mathcal{H}_n^m(\alpha, \beta, q)f(z))'' &= \frac{\partial^2}{\partial \theta^2}(\mathcal{H}_n^m(\alpha, \beta, q)f(re^{i\theta})) \\ &= z(\mathcal{H}_n^m(\alpha, \beta, q)h)' - z^2(\mathcal{H}_n^m(\alpha, \beta, q)h)'' \\ &\quad - z(\mathcal{H}_n^m(\alpha, \beta, q)g)' - z^2(\mathcal{H}_n^m(\alpha, \beta, q)g)''. \end{aligned} \quad (15)$$

Also we denote by $\mathcal{S}_{\overline{\mathcal{H}}}^t(\gamma, \delta, \eta, \sigma)$ the subclass of $\mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$ consisting of functions $f \in \mathcal{S}_{\overline{\mathcal{H}}}$ of the type (11) which satisfy the condition (12).

2 Main results

In this section, we first give the sufficient coefficient bounds for $f(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$ and then we show these sufficient conditions are also necessary for $f(z) \in \mathcal{S}_{\overline{\mathcal{H}}}^t(\gamma, \delta, \eta, \sigma)$.

Theorem 2.1. *Suppose $f = h + \overline{g}$, h and g be given by (1) and:*

$$\begin{aligned} &\sum_{k=2}^{\infty} |(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |a_k| + \\ &\sum_{k=1}^{\infty} |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_k| \leq 1 - \sigma. \end{aligned} \quad (16)$$

Then $f(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$.

Proof. By using the fact that:

$$\operatorname{Re}\{W\} \geq \sigma \iff |W + 1 - \sigma| \geq |W - 1 - \sigma|$$

and letting:

$$\begin{aligned} W &= \eta e^{it} - \gamma\delta - \eta e^{it} \frac{(\mathcal{H}_n^m(\alpha, \beta, q)f(z))''}{z''} \\ &\quad + (\gamma + \delta) \frac{(\mathcal{H}_n^m(\alpha, \beta, q)f(z))'}{z'} \\ &\quad + (1 - \gamma)(1 - \delta) \frac{\mathcal{H}_n^m(\alpha, \beta, q)f(z)}{z} \end{aligned}$$

it is enough to show that:

$$|W + 1 - \sigma| - |W - 1 - \sigma| \geq 0.$$

But by using (13), (14) and (15) we have:

$$\begin{aligned} |W + 1 - \sigma| &= \left| \eta e^{it} - \gamma\delta - \eta e^{it} \left(1 + \sum_{k=2}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k) a_k z^{k-1} + \right. \right. \\ &\quad \left. \left. + \sum_{k=2}^{\infty} k(k-1)\Gamma(\alpha_i, \beta_j, q, k) a_k z^{k-1} + \sum_{k=1}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k) b_k (\bar{z})^{k-1} \right. \right. \\ &\quad \left. \left. + \sum_{k=1}^{\infty} k(k-1)\Gamma(\alpha_i, \beta_j, q, k) b_k (\bar{z})^{k-1} \right) \right. \\ &\quad \left. + (\gamma + \delta) \left(1 + \sum_{k=2}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k) a_k z^k - \sum_{k=1}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k) b_k (\bar{z})^{k-1} \right) \right. \\ &\quad \left. + (1 - \gamma)(1 - \delta) \left(1 + \sum_{k=2}^{\infty} \Gamma(\alpha_i, \beta_j, q, k) a_k z^{k-1} + \sum_{k=1}^{\infty} \Gamma(\alpha_i, \beta_j, q, k) b_k (\bar{z})^{k-1} \right) \right| \\ &\geq 2 - \sigma - \sum_{k=2}^{\infty} |1 + (\gamma + \delta)(k-1) + \gamma\delta - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |a_k| \left| \frac{z^k}{z} \right| \\ &\quad - \sum_{k=1}^{\infty} |1 - (\gamma + \delta)(k-1) + \gamma\delta - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_k| \left| \frac{z^k}{z} \right|, \end{aligned}$$

and

$$|W - 1 - \sigma| \leq \sigma + \sum_{k=2}^{\infty} |1 + (\gamma + \delta)(k-1) + \gamma\delta - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |a_k| \left| \frac{z^k}{z} \right|$$

$$+ \sum_{k=1}^{\infty} |1 - (\gamma + \delta)(k - 1) + \gamma\delta - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_k| \left| \frac{z^k}{z} \right|,$$

where $\Gamma(\alpha_i, \beta_j, q, k)$ is defined by (8).

So by using (16), we have:

$$\begin{aligned} & |W + 1 - \sigma| - |W - 1 - \sigma| \geq \\ & 2 \left[1 - \sigma - \sum_{k=2}^{\infty} |(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |a_k| \right. \\ & \left. - \sum_{k=1}^{\infty} |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_k| \right] \geq 0. \end{aligned}$$

□

Remark 2.2. The coefficient bound (16) is sharp for the function:

$$\begin{aligned} H(z) &= z + \sum_{k=2}^{\infty} \frac{x_k}{|(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} z^k \\ &+ \sum_{k=1}^{\infty} \frac{\bar{y}_k}{|(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} (\bar{z})^k, \end{aligned}$$

where

$$\frac{1}{1 - \sigma} \left(\sum_{k=2}^{\infty} |x_k| + \sum_{k=1}^{\infty} |y_k| \right) = 1.$$

Theorem 2.3. Let $f = h + \bar{g} \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$ if and only if:

$$\begin{aligned} & \sum_{k=2}^{\infty} \left(|(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| |a_k| \right. \\ & \left. + |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| |b_k| \right) \Gamma(\alpha_i, \beta_j, q, k) \\ & \leq 1 - \sigma - (2(\gamma + \delta) - (1 + \gamma\delta + \eta)) |b_1|. \end{aligned} \tag{17}$$

Proof. From Theorem ?? $\mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma) \subset \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$, and since (16) is equivalent to (17) we conclude the “if part”. For the “only if part”,

suppose that $f(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$. Then for $z = re^{i\theta} \in \mathbb{U}$, we have:

$$\begin{aligned}
 & \operatorname{Re} \left\{ (\eta e^{it} - \gamma\delta) - \eta e^{it} \frac{(\mathcal{H}_n^m(\alpha, \beta, q)f(z))''}{z''} + (\gamma + \delta) \frac{(\mathcal{H}_n^m(\alpha, \beta, q)f(z))'}{z'} \right. \\
 & \left. + (1 - \gamma)(1 - \delta) \frac{\mathcal{H}_n^m(\alpha, \beta, q)f(z)}{z} \right\} \geq \sigma, \\
 & = \operatorname{Re} \left\{ \eta e^{it} - \gamma\delta \right. \\
 & - \eta e^{it} \left(1 + \sum_{k=2}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k)a_k z^{k-1} + \sum_{k=2}^{\infty} k(k-1)\Gamma(\alpha_i, \beta_j, q, k)a_k z^{k-1} \right. \\
 & \left. + \sum_{k=1}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k)b_k(\bar{z})^{k-1} + \sum_{k=1}^{\infty} k(k-1)\Gamma(\alpha_i, \beta_j, q, k)b_k(\bar{z})^{k-1} \right) \\
 & \left. + (\gamma + \delta) \left(1 + \sum_{k=2}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k)a_k z^{k-1} - \sum_{k=1}^{\infty} k\Gamma(\alpha_i, \beta_j, q, k)b_k(\bar{z})^{k-1} \right) \right. \\
 & \left. + (1 - \gamma)(1 - \delta) \left(1 + \sum_{k=2}^{\infty} \Gamma(\alpha_i, \beta_j, q, k)a_k z^{k-1} + \sum_{k=1}^{\infty} \Gamma(\alpha_i, \beta_j, q, k)b_k(\bar{z})^{k-1} \right) \right\} \\
 & \geq 1 - \sum_{k=2}^{\infty} |(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| |a_k| \Gamma(\alpha_i, \beta_j, q, k) \\
 & + (2(\gamma + \delta) - (1 + \gamma\delta + \eta)) |b_1| \\
 & + \sum_{k=2}^{\infty} |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_k| r^{k-1} \geq \sigma.
 \end{aligned}$$

The above inequality holds for all $z \in \mathbb{U}$. So if $z = r \rightarrow 1$. We obtain the required result (17). Now the proof of theorem is complete. \square

3 Geometric properties

In this section we introduce extreme points of $\mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$ and show that this class is a convex set.

Theorem 3.1. $f = h + \bar{g} \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$ if and only if it can be expressed

of the type:

$$f(z) = X_1 z + \sum_{k=2}^{\infty} X_k h_k(z) + \sum_{k=1}^{\infty} Y_k g_k(z), \quad (z \in \mathbb{U}), \quad (18)$$

where

$$h_k(z) = z - \frac{1 - \sigma}{|(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} z^k, \quad (19)$$

and

$$g_k(z) = \frac{1 - \sigma}{|(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} (\bar{z})^k, \quad (20)$$

$X_1 \geq 0, Y_1 \geq 0, X_1 + \sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k = 1, X_k \geq 0, Y_k \geq 0$ for $k = 2, 3, \dots$, and $\Gamma(\alpha_i, \beta_j, q, k)$ is given by (8).

Proof. If f be given by (18), then:

$$\begin{aligned} f(z) &= z - \sum_{k=2}^{\infty} \frac{1 - \sigma}{|(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} X_k z^k \\ &\quad + \sum_{k=1}^{\infty} \frac{1 - \sigma}{|(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} Y_k (\bar{z})^k. \end{aligned}$$

Since by (17), or equivalently by (16), we have:

$$\begin{aligned} &\sum_{k=2}^{\infty} |(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) \times \\ &\quad \times \frac{(1 - \sigma) |X_k|}{|(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} \\ &+ \sum_{k=1}^{\infty} |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) \times \\ &\quad \times \frac{(1 - \sigma) |Y_k|}{|(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)} \\ &= (1 - \sigma) \left(\sum_{k=2}^{\infty} |X_k| + \sum_{k=1}^{\infty} |Y_k| \right) \end{aligned}$$

$$= (1 - \sigma)(1 - X_1) \leq 1 - \sigma.$$

So $f(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$.

Conversely, suppose $f(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$. By putting:

$$X_1 = 1 - \left(\sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k \right),$$

where

$$X_k = \frac{|(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)}{1 - \sigma} |a_k|,$$

$$Y_k = \frac{|(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k)}{1 - \sigma} |b_k|$$

We conclude the required representation, so the proof is complete. \square

Theorem 3.2. *If $f_n(z)$, $n = 1, 2, \dots$, belongs to $\mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$, then the function $F(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z)$ is also in $\mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$, where $f_n(z)$ defined by:*

$$f_n(z) = z - \sum_{k=2}^{\infty} a_{k,n} z^k + \sum_{k=1}^{\infty} b_{k,n} (\bar{z})^k, \quad (n = 1, 2, \dots, \quad \sum_{n=1}^{\infty} \lambda_n = 1).$$

(21)

Proof. Since $f(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$, by (17) or equivalently (16), for $n = 1, 2, \dots$ we have:

$$\sum_{k=2}^{\infty} |(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |a_{k,n}|$$

$$+ \sum_{k=1}^{\infty} |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_{k,n}| \leq 1 - \sigma.$$

Also

$$F(z) = \sum_{n=1}^{\infty} \lambda_n f_n(z) = z - \sum_{k=2}^{\infty} \left(\sum_{n=1}^{\infty} \lambda_n a_{k,n} \right) z^k + \sum_{k=1}^{\infty} \left(\sum_{n=1}^{\infty} \lambda_n b_{k,n} \right) (\bar{z})^k,$$

Now according to (17) or equivalently (16), we have:

$$\begin{aligned}
& \sum_{k=2}^{\infty} \left| (\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2 \right| \left| \sum_{n=1}^{\infty} \lambda_n a_{k,n} \right| \Gamma(\alpha_i, \beta_j, q, k) \\
& + \sum_{k=1}^{\infty} \left| (\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2 \right| \left| \sum_{n=1}^{\infty} \lambda_n b_{k,n} \right| \Gamma(\alpha_i, \beta_j, q, k) \\
& = \sum_{n=1}^{\infty} \left\{ \sum_{k=2}^{\infty} |(\gamma + \delta)k + (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |a_{k,n}| \right. \\
& \quad \left. + \sum_{k=1}^{\infty} |(\gamma + \delta)k - (1 - \gamma - \delta + \gamma\delta) - \eta k^2| \Gamma(\alpha_i, \beta_j, q, k) |b_{k,n}| \right\} \lambda_n \\
& \geq (1 - \sigma) \sum_{n=1}^{\infty} \lambda_n = 1 - \sigma.
\end{aligned}$$

Thus $F(z) \in \mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$. \square

Remark 3.3. We note that $\mathcal{S}_{\mathcal{H}}^t(\gamma, \delta, \eta, \sigma)$ is a convex set.

References

- [1] H. Aldweby and M. Darus. A subclass of harmonic univalent functions associated with-analogue of dziok-srivastava operator. *ISRN Mathematical Analysis*, 2013, 2013.
- [2] J. Clunie and T. Sheil-Small. Harmonic univalent functions. 9:3–25, 1984.
- [3] J. Dziok and H. M. Srivastava. Classes of analytic functions associated with the generalized hypergeometric function. *Applied Mathematics and Computation*, 103(1):1–13, 1999.
- [4] H. Exton. *q-Hypergeometric functions and applications*. Horwood, 1983.
- [5] G. Gasper and M. Rahman. *Basic hypergeometric series*, volume 35. Cambridge university press Cambridge, UK, 1990. Vol. 35 of Encyclopedia of Mathematics and its Applications.

- [6] H. A. Ghany. q -derivative of basic hypergeometric series with respect to parameters. *International Journal of Mathematical Analysis*, 3(33-36):1617–1632, 2009.
- [7] F. Jackson. q -difference equations. *American Journal of Mathematics*, 32(4):305–314, 1910.
- [8] S. Najafzadeh. q -derivative on p -valent meromorphic functions associated with connected sets. *Surveys in Mathematics and its Applications*, 14(1843-7265):149–158, 2019.